

St. Louis County, Minnesota



Date of Report: 4/29/2025 7:59:18 AM

Baraal ID:			General De	etails				
Parcel ID:	175-0080	-00180						
		Le	gal Description	on Details				
Plat Name:	MT IRON							
Sec	tion	Township	F	Range		Lot		Block
2	28	59		18		-		-
Description:	SE1/4 of	SE1/4						
			Taxpayer D	etails				
Taxpayer Name	e UNITED	STATES STEEL CO	ORPORATION					
and Address:	C/O RYA	N LLC						
	1 PPG PI	STE 2810						
	PITTSBU	RGH PA 15222						
			Owner De	tails				
Owner Name	UNITED	STATES STEEL CO		lano				
		Pay	able 2025 Tax	x Summary				
	2025	- Net Tax				\$86.00		
	2025	- Special Assessm	ents			\$0.00		
		5 - Total Tax &		comonto		\$86.00	-	
	2023		-		-	ψ00.00		
		Currer	nt Tax Due (as		5)			
	Due May 15		Due Octo	ber 15			Total Due	9
2025 - 1st Ha	If Tax \$4	3.00 2025 - 2	2025 - 2nd Half Tax \$4			2025 - 1st Half Tax Due		\$43.00
2025 - 1st Ha	If Tax Paid	30.00 2025 - 2	2025 - 2nd Half Tax Paid			2025 - 2nd Half Tax Due		\$43.00
2025 - 1st Ha	lf Due \$4	3.00 2025 - 2	2025 - 2nd Half Due \$4			2025 - 1	otal Due	\$86.00
			Parcel Details					
Property Addre	ess: -		1 41001 20					
School District								
Tax Increment								
	steader:							
	otoddoll	-	ent Details (20	25 Payable	2026)			
		Assessme			Def	Land	Def Bldg	Net Tax
Property/Home Class Code	Homestead	Land	Bldg EMV	Total EMV				
Property/Home Class Code (Legend)	Homestead Status	Land EMV	EMV	EMV	E	٨V	EMV	Capacity
Property/Home Class Code	Homestead	Land			EN \$			Capacity



### St. Louis County, Minnesota



#### Date of Report: 4/29/2025 7:59:18 AM

			Land D	etails			
Deeded Acres:	40.00						
Vaterfront:	-						
Vater Front Feet:	0.00						
Vater Code & Desc:	-						
as Code & Desc:	-						
ewer Code & Desc:	-						
ot Width:	0.00						
ot Depth:	0.00						
he dimensions shown are n https://apps.stlouiscountymn	ot guaranteed to be s	urvey quality.	Additional lot	information can be f	ound at	av@atlauiaaauntumn.ga	
ups.//apps.suouiscountymin	.gov/webFlatSillame/i	-		ails (WHSE/SHO		ax@silouiscouritymin.go	
	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
Improvement Type WAREHOUSE	1960	211,6		405,696	Dasement rimsn	Style Code & Des	
		Width			Foundati	-	
Segment	Story		Length				
BAS	1	0	0	11,760	FOUNDAT		
BAS BAS	1	29 0	200 0	5,800	FOUNDAT	-	
	2	-	-	63,216	FOUNDAT		
BAS	2	60	230	13,800	FOUNDAT		
BAS	2	62	200	12,400	FOUNDAT		
BAS 2		306	342	104,652	FOUNDATION		
		Improveme	ent 2 Deta	ails (LUBE WHS	E)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
WAREHOUSE	1960	11,4	48	11,448	-	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	6	68	408	FOUNDAT	ION	
BAS	1	92	120	11,040	FOUNDATION		
		Improve	ment 3 D	etails (UTILITY)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
UTILITY	1980	3,20	00	3,200	_	-	
Segment	Story	Width	Length		Foundati	on	
BAS	1	40	80	3,200	FOUNDAT		
LD	1	10	80	800	FOUNDAT		
Improvement True	Voer Built	Improven Main Flo		tails (24X40 UTL Gross Area Ft <sup>2</sup>	•	Stule Code 9 De-	
	Year Built				Basement Finish	Style Code & Des	
UTILITY	1970	1,02		1,020	- Easter de 19	-	
Segment	Story	Width	Length		Foundati		
BAS	1	6	10	60	FLOATING		
BAS	1		24 40 960		FLOATING SLAB		
		•		tails (32X44 UTL	-)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des	
UTILITY	1970	1,40	08	1,408	-	-	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	32	44	1,408	FLOATING		





St. Louis County, Minnesota

		Improvem	ent 6 Det	ails (8X66 STR	G)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc
MATERIALS STORAGE	1970	528 528		-	-	
Segment	Segment Story Width Length Area		Foundation			
BAS	1	8 66 528		POST ON GF	ROUND	
		Improvem	ent 7 Det	ails (8X20 STR	G)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
MATERIALS STORAGE	1970 160 160 -		-			
Segment Story Width		Length	Area	Foundat	ion	
BAS	1	8	20	160	POST ON GF	ROUND
		Improvem	ent 8 Deta	ails (10X22 STR	G)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Dese
MATERIALS STORAGE	1970	22	0	220	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	10	22	220	POST ON GF	ROUND
		Improvem	ent 9 Deta	ails (10X22 STR	G)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Dese
MATERIALS STORAGE	1970	22	0	220	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	10	22	220	POST ON GF	ROUND
		Improveme	ent 10 Det	ails (10X22 STF	(G)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Dese
MATERIALS STORAGE	1970	22	0	220	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	10	22	220	POST ON GF	ROUND
		Improvem	ent 11 De	etails (20X32 UT	L)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Dese
UTILITY	1970	68	0	680	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	20	34	680	FLOATING	SLAB
		Improven	nent 12 D	etails (14X14 S	Г)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des
UTILITY	1970	19	6	196	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	14	14	196	POST ON GF	ROUND
		Improveme	ent 13 De	tails (40X100 U	ſL)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
UTILITY	1970	4,52	28	4,528	_	_





St. Louis County, Minnesota

	Segment	Story	Width	Length	Area		Founda	ation	
	BAS	1	0	0	420		FLOATING SLAB FLOATING SLAB FLOATING SLAB		
	BAS	1	6	18	108				
	BAS	1	40	100	4,000				
			Improver	nent 14 De	tails (8X10 S	Г)			
ľ	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	iross Area Ft <sup>2</sup>	Base	ement Finish	Style C	ode & Desc.
	UTILITY	1970	80	)	80		-		-
	Segment	Story	Width	Length	Area		Founda	ation	
	BAS	1	8	10	80		POST ON C	GROUND	
			Improvem	ent 15 Det	ails (PARKIN	G)			
ľ	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup> G	iross Area Ft <sup>2</sup>	Base	ement Finish	Style C	ode & Desc.
	PARKING LOT	1985	104,	100	104,100		-	A - A	SPHALT
	Segment	Story	Width	Length	Area		Founda	ation	
	BAS	0	0	0	32,200		-		
	BAS	0	0	0	71,900		-		
			Improveme	nt 16 Detai	ils (RR TRAC	KS)			
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	iross Area Ft <sup>2</sup>	Base	ement Finish	Style C	ode & Desc.
		1950	2,63	35	2,635		-		-
	Segment	Story	Width	Length	Area		Foundation		
	BAS	0	0	0	1,300		-		
	BAS	0	0	0	1,335		-		
		S	ales Reported	to the St. L	ouis County	Auditor			
No	Sales information								
	Calco internation	on reported.							
		on reported.	As	ssessment	History				
		Class	As				Def	Def	
		Class Code	Land	Bldg	- To	otal MV	Land	Bldg	Net Tax Canacity
	Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Tr E	MV	Land EMV	Bldg EMV	Capacity
202	Year	Class Code (Legend) 234	Land EMV \$2,800	Bidg EMV \$0	Ta E \$2	<b>MV</b> ,800	Land EMV \$0	Bldg EMV \$0	
202		Class Code (Legend) 234 580	Land EMV \$2,800 \$35,700	Bidg EMV \$0 \$328,10	00 \$36	MV ,800 3,800	Land EMV \$0 \$0	Bldg EMV \$0 \$0	Capacity - -
202	Year	Class Code (Legend) 234 580 Total	Land EMV \$2,800 \$35,700 \$38,500	Bldg EMV \$0 \$328,10 <b>\$328,1</b> 0	00 \$36	MV ,800 3,800 6,600	Land EMV \$0 \$0 \$0	Bldg EMV \$0 \$0	Capacity -
	Year	Class Code (Legend) 234 580 Total 234	Land EMV \$2,800 \$35,700 \$38,500 \$2,700	Bidg EMV \$0 \$328,11 <b>\$328,1</b> 1 \$328,11	00 \$36 00 \$2	MV ,800 3,800 6,600 ,700	Land EMV \$0 \$0 \$0 \$0	Bidg EMV     \$0     \$0     \$0     \$0     \$0	Capacity - -
	Year	Class Code (Legend) 234 580 Total	Land EMV \$2,800 \$35,700 \$38,500	Bldg EMV \$0 \$328,10 <b>\$328,1</b> 0	Tage     \$2     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36	MV ,800 3,800 6,600	Land EMV \$0 \$0 \$0	Bldg EMV \$0 \$0	Capacity - -
	Year	Class Code (Legend)     234     580     Total     234     Total     580	Land EMV \$2,800 \$35,700 \$38,500 \$2,700 \$33,800 \$36,500	Bidg EMV \$0 \$328,11 \$328,11 \$0 \$328,11 \$328,11	Top     \$2     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36	MV 800 3,800 6,600 700 1,900 4,600	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0	Capacity - - 56.00 - -
202	Year 24 Payable 2025 23 Payable 2024	Class Code (Legend)     234      580      234      580      234      580      234      234      70tal      234      234      234      234      234	Land EMV \$2,800 \$35,700 \$38,500 \$2,700 \$33,800 \$36,500 \$2,500	Bidg EMV \$0 \$328,10 \$328,10 \$0 \$328,10 \$328,10 \$328,10 \$328,10 \$328,10	Top     \$2     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36	MV 800 3,800 6,600 ,700 1,900 4,600 ,500	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0	Capacity - - 56.00 - -
202	Year	Class Code (Legend)     234     580     Total     234     Total     580	Land EMV \$2,800 \$35,700 \$38,500 \$2,700 \$33,800 \$36,500 \$2,500 \$31,600	Bidg EMV \$0 \$328,11 \$328,11 \$0 \$328,11 \$328,11	Top     \$2     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$35	MV 800 3,800 6,600 700 1,900 4,600	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 56.00 - 54.00 - 54.00
202	Year 24 Payable 2025 23 Payable 2024	Class Code (Legend)     234      580      234      580      234      234      580      234      234      580      234      580      234      580      234      580	Land EMV \$2,800 \$35,700 \$38,500 \$2,700 \$33,800 \$36,500 \$2,500	Bidg EMV \$0 \$328,10 \$328,10 \$0 \$328,10 \$328,10 \$0 \$328,10	Tage     \$2     00   \$36	MV 800 3,800 6,600 1,900 4,600 500 9,700	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity 
202	Year 24 Payable 2025 23 Payable 2024	Class Code (Legend)   234    234    580    234    580    234    234    234    234    580    234    580    234    580    234    580    580	Land EMV \$2,800 \$35,700 \$38,500 \$2,700 \$33,800 \$36,500 \$2,500 \$31,600 \$34,100	Bldg EMV \$0 \$328,10 \$328,10 \$0 \$328,10 \$328,10 \$0 \$328,10 \$328,10	Tage     \$2     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$36     00   \$35     00   \$35     00   \$36     00   \$36     \$2   \$35     00   \$36     \$2   \$35	MV 800 3,800 6,600 1,900 1,900 4,600 500 9,700 2,200	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity 





### St. Louis County, Minnesota

	Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$84.00	\$0.00	\$84.00	\$2,700	\$0	\$2,700				
2023	\$82.00	\$0.00	\$82.00	\$2,500	\$0	\$2,500				
2022	\$72.00	\$0.00	\$72.00	\$2,000	\$0	\$2,000				

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.